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QUESTION 1

Refer to the exhibit.

An ArcGIS user added a new street (shown in the exhibit) to a streets feature class within an edit session.

The new street seems to have snapped to an existing street but upon zooming in the ArcGIS user notices that the street
is connected to the wrong street.

What is the most likely reason for this error?

A. The street was digitized at a scale that was too small
B. The street was digitized at a scale that was too large
C. The snapping tolerance was set to Low

D. Edge snapping was turned on Instead of end snapping

Correct Answer: D

QUESTION 2

After the ground water is the local community was contaminated by a landfill, the health department requested a map
showing the cancer rate for each postal code. An ArcGIS user Is provided a file geodatabase feature class
(FeatureClassA) that has been joined to a cancer rate table (TableB). The cancer rate table does not have data for each
postal code In the study and also contains data outside the study area creating null values. To eliminate the null values
from being symbolized.
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Which exclusion query should be used?

A. (FeatureClassA OBJECTED is Not Null) and (TableB.cancerrate Is Not Null)
B. ("FeatureClassA OBJECTED" is Not Null) and (TableB.cancerrate is Not Null)
C. ("FeatureClassA OBJECTED". "TableB cancerrate" is Not Null)

D. ("FeatureClassA OBJECTED" and "TableB cancerrate" is Not Null)

Correct Answer: A

QUESTION 3

An ArcGIS user is given a geodatabase and tasked with adding a feature class to an existing geodatabase topology.
What should the user do?

A. delete the existing geodatabase topology and create a new one to include the feature class

B. modify the existing geodatabase topology to include the feature class Explanation:-
https://desktop.arcgisxom/en/arcmap/10.3/tools/data-m

C. export the existing geodatabase topology to an XML file include the feature class in the XML and import it

D. remove all the feature classes from existing topology and add everything back including the feature class that needs
to be added

Correct Answer: B

QUESTION 4

An ArcGIS user needs to create a map of flood zones for an insurance company. The user has a choice of four
elevation data sets to perform the analysis.

USGS 30-meter DEM SRTM 90-meter DEM Lidar 5-meter DEM 30-meter DEM derived from stereo imagery
Which type of elevation dataset will create the most accurate flood zones?

A. USGS 30 meter DEM

B. SRTM 90 meter DEM

C. Lidar5-meter DEM

D. 30-meter DEM derived from stereo imagery

Correct Answer: A

QUESTION 5
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An ArcGIS user has a project that requires using an image with a spatial accuracy of 5 meters Root Mean Square Error
(RMSE) or better. How should users verify the spatial accuracy of the image?

A. They should verify that the image resolution is less than 5 meters
B. They should compare the image to surveyed control points of high accuracy and compute an RMSE

C. They should visually inspect the image to make sure there are no obvious errors that would compromise the sp
accuracy

D. They should compute an RMSE and compare the results to the results of a Landsat image

Correct Answer: B
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